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Answer .ﬁny"five questions
ANl questions carry equal marks

-

1.a) A bearing for an axial flow ¢ IPressor is to carry a radial load of 2500N and thrust of
"1500N the service imposes light shock and the bearing will be in use for 40 hours/week
“for 5 years. The speed -of the shaft is 1000 rpm. Select suitable ball bearing for the
- purpose and give the required‘tolerances on the shaft and thétousing. Assume diameter
of the shaftis 50mm. - '
b)  Write a note on:
- 1) Bushed journal bearing

if) Pedestal bearing. - [9+6)

df ameter supports a radial load of 8000N |

y‘igﬁw SAE 60 at 25%inlet temperature. Using

;t’e_fﬁﬁ?ature, maximum film pressure and
s f ’

2.a) A journal bearing 160 mm I
. cthe shaft speed isz260

clearance ratio of 600
- minimum film thickness.

xxxxxx

e of “taking up higher load than:}s\glf;alignigg ball

1ng Data . Maximum load on the crank pin, when

t right angle is 44kN -The;erank radius is 16mm and

. ‘crank pin and the main bearing is 240mm, the crank
- - pin is hydraulically pr?'i ition and the web is keyed to the crank shaft.

b) ~Why are connecting ro 1ade of I section of rectangular section instead of round or

st l
~square section. Justify your ati¥wer withifieat skeiches. H2+31

- 4.2} A compressor receives power from a motor rated at 30kW at 22rps by means of V belts.

_The driving pulley diameter js 300mm and driven pulley is 750mm. center distance is

““Lam. Select suitable belts for the above drive and indicate relevant dimensiohs in a
-sketch. _ : : _
b)  Sketch and describe any three configurations of belt drives. [11+4]

.......

~ 5.a) '“Design aspur gearto transmi%é%i S kW at1440 rpﬂifrom an electnc motor toan air -

. Compressor running at 720 rpm. List the relevant parameters of the gears.
b) HDiffcrertlthinate b'etwggn cxternal bevel, internal bevg_:]___and crown gears. _,L}ﬂ2-+3]
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6. Design a{ bevel gear drive to tréznsmit 4 kW. Speed ratio = 4 driving shaft
speed = 225 rpm. The drive is non reversible. Assume life of 26,000 hours.
o St 3 S5 EEY: i R A [15]
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| S.a) '-
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Design a suitable worm drive to provide a reduction of 40 while transmftting 10 hp -
at 1400 ¥inin of th&'worm. ' = [15]

A sluice gate weighing 600KN is raised and lowered by means of two square threaded

between the screw'and nut is 0.05, Design the screw and the nitt.,

Discuss in brief with neat sketches about different types of thread profiles
their applications. ' _

screws. The coefficient of friction between the thrust collar and screw is 0.003 and that

stating
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